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7KH�YLOODJH�RI�3DNUDPDQ�IURP�WKH�VWDUW�RI�LWV�IRUPDWLRQ�KDV�VKRZQ�LWV�UROH�LQ�VRFLHW\�

7KH�YLOODJH�RI�3DNUDPDQ�DV�WKH�EDFNERQH�UHPDLQV�WKH�HVWDEOLVKPHQW�RI�,QGLJHQRXV��&XOWXUDO

DQG�+LQGX�5HOLJLRQ�LQ�%DOL�LQ�SDUWLFXODU��%URDGO\�VSHDNLQJ�WKH�UROH�RI�'HVD�3DNUDPDQ�FDQ�EH

JURXSHG�DV�WKH�EDFNERQH�RI�XQLW\�DQG�WKH�XQLW\�RI�WKH�YLOODJH�FRPPXQLW\��HVSHFLDOO\�LQ�WKH�ILHOG����

7KH� UROH�RI�'HVD�3DNUDPDQ� LQ� WKH� UHOLJLRXV� VRFLDO� ILHOG��$V� WKH� LPSOHPHQWDWLRQ� RI�7UL�+LWD

.DUDQD�LQ�WKH�ILHOG�RI�3DUK\DQJDQ��QDPHO\�PDLQWDLQLQJ�JRRG�UHODWLRQVKLS�EHWZHHQ�NHUDPD�ZLWK

*RG�WKURXJK�LQ�WKH�ILHOG�RI�XSDNDUD�DQG�UHOLJLRXV�FHUHPRQ\�DOZD\V�EH�ERUQH�WRJHWKHU��/LNH�WKH

LPSOHPHQWDWLRQ�RI�3LRGDODQ�GD\�DW�3XUD�� WKH� LPSOHPHQWDWLRQ�RI�UHOLJLRXV� IHVWLYDOV� LV�DOZD\V

VKDUHG�E\�3DNUDPDQ�YLOODJH��7KH�UROH�RI�WKH�YLOODJH�RI�3DNUDPDQ�LQ�WKH�UHOLJLRXV�VRFLDO�ILHOG��DV

D�SXEOLF�VHUYDQW�LQ�WKH�LPSOHPHQWDWLRQ�RI�3DQFD�<DGQ\D�GRQH�E\�WKH�FRPPXQLW\��DOZD\V�VXSSRUWHG

E\�WKH�9LOODJH�3DNUDPDQ��HVSHFLDOO\�0DUULDJH�&HUHPRQ\��3HQJDEHQDQ��&HUHPRQ\�PHWWDK�DQG

VR�IRUWK����7KH�UROH�RI�'HVD�3DNUDPDQ�LQ�WKH�VRFLDO�ILHOG��$V�WKH�LPSOHPHQWDWLRQ�RI�7UL�+LWD

.DUDQD�LQ�WKH�ILHOG�RI�VRFLR�FXOWXUH��PRUH�DERXW�VRFLHW\�DQG�HQYLURQPHQW��7KH�UROH�RI�FRPPXQLW\

LV�WR�RUJDQL]H�D�KDUPRQLRXV�UHODWLRQVKLS�EHWZHHQ�YLOODJHUV��7KH�UROH�RI�'HVD�3DNUDPDQ�VHHQ

IURP�WKH�VRFLDO�FRPPXQLW\�LV�YHU\�YLVLEOH�IURP�WKH�SKLORVRSK\�RI�OLIH�DV�VWLSXODWHG�LQ�WKH�FROOHFWLYH

DJUHHPHQW�DV�ZHOO�DV�GDLO\�UXOHV�VXFK�DV��6HJLOLN�D�FHOO�VHOXQJOXQJ�VHED\DQ�WDND�VDUSD�QD\D�

7KLV�PHDQV� WKDW� WKH�VRFLDO� IXQFWLRQV� LPSOHPHQWHG�E\�WKH�YLOODJH�3DNUDPDQ�� OLNH�DQG�VRUURZ

VKRXOGHUHG�WRJHWKHU��3HUQDQ�'HVD�3DNUDPDQ�DOVR�DSSHDUV�LQ�JXDUGLQJ�WKH�GHYHORSPHQW�DQG

GHYHORSPHQW�RI�$GDW�DQG�&XOWXUH�WKDW�LV�LPEXHG�E\�+LQGXLVP����7KH�UROH�RI�'HVD�3DNUDPDQ�LQ

WKH�ILHOG�RI�HQYLURQPHQW��:KLOH�WKH�HQYLURQPHQW�UHJXODWHV�D�VXVWDLQDEOH�OLYLQJ�HQYLURQPHQW�ZLWK

FRPPXQLW\�OLIH�

.H\ZRUGV��7UL�+LWD�.DUDQD��&XVWRP��+LQGX�5HOLJLRQ�&XOWXUH
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,QVWLWXW�+LQGX�'KDUPD�1HJHUL�'HQSDVDU
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'HVD�3DNUDPDQ�PHUXSDNDQ� NHVDWXDQ

PDV\DUDNDW�KXNXP�DGDW��\DQJ�PHPSXQ\DL�VDWX

NHVDWXDQ�WUDGLVL�GDQ�WDWD�NUDPD�SHUJDXODQ�KLGXS

PDV\DUDNDW� EDJL� XPDW� +LQGX� VHFDUD� WXUXQ

WHPXUXQ� GDODP� LNDWDQ� .D\DQJDQ� 7LJD�

PHPSXQ\DL�ZLOD\DK� WHUWHQWX� GDQ� SHQGXGXN

VHEDJDL�.UDPD�'HVD� �\DQJ�EHUDJDPD�+LQGX�

PHPSXQ\DL� VXPEHU�GDQD� VHQGLUL� GDQ� EHUKDN

PHQJDWXU�UXPDK�WDQJJDQ\D�VHQGLUL���3HUDWXUDQ

'DHUDK�1R����7DKXQ��������%DE�,�3DVDO�������

.RQVHS� GDVDU� WHUEHQWXNQ\D�'HVD�3DNUDPDQ�

EHUODQGDVDNDQ�SDGD�.RQVHS�7UL�+LWD�.DUDQD�

\DNQL�DGD�XQVXU������SDUK\DQJDQ���WHPSDW�VXFL

GDODP�EHQWXN�.D\DQJDQ�7LJD�������3DZRQJDQ

�� DQJJRWD�PDV\DUDNDW� \QJ� GLVHEXW� GHQJDQ

NHUDPD�GHVD��������3DOHPDKDQ���XQVXU�ZLOD\DK

GHVD� ��� 3HUDQDQ�'HVD� 3DNUDPDQ� SDGD� VDDW

SHUWDPD� NDOL� WHUEHQWXNQ\D� WXJDV� SRNRN� GDQ

IXQJVLQ\D� DGDODK�PHPEHULNDQ� SHOD\DQDQ

NHSDGD�PDV\DUDNDW��GL�OLQJNXQJDQQ\D�PDVLQJ



��

±�PDVLQJ�GL�ELGDQJ�DJDPD��DGDW��EXGD\D�GDQ

JRWRQJ�5R\RQJ�\DQJ�GLODQGDVL�VHPER\DQ��KLGXS

³�6DJLOLN���VDJXOXN�6DOXQJOXQJ�VDED\DQ�WDND

VDUSDQD\D�PDNVXGQ\D�VXND�GDQ�GXND�GLSLNXO

EHUVDPD�±�VDPD��7XJDV�SRNRN�GDQ�IXQJVL�'HVD

3DNUDPDQ�� GDUL� VHPXOD� VDPSDL� VDDW� LQL�

EHUNHPEDQJ� VHVXDL� GHQJDQ� SHUNHPEDQJDQ

NHEXWXKDQ� PDV\DUDNDW� VHWHPSDW�

SHUNHPEDQJDQ� � GDQ� NHPDMXDQ� WHNQRORJL�

�6XUSKD��������KDO�����

�3HUDQDQ�'HVD�3DNUDPDQ��GDODP�WXOLVDQ

LQL� DNDQ� GLVDMLNDQ� GDUL� =DPDQ�%DOL� .XQR

6DPSDL� GHQJDQ�=DPDQ�5HIRUPDVL�� 3HUDQDQ

'HVD� 3DNUDPDQ�� GDODP� SHUWXPEXKDQ� GDQ

SHUNHPEDQJDQQ\D�PHQJDODPL� SDVDQJ� VXUXW�

VHVXDL�GHQJDQ��SULRGH�\DQJ�EHUODQJVXQJ��GDUL

PDVD�NH�PDVD��3HUNHPEDQJDQ�'HVD�3DNUDPDQ

GDSDW� GLSLODK� ±� SLODK� EHUGDVDUNDQ� � VLVWHP

SHPHULQWDKDQ�GDQ�SHUNHPEDQJDQ�]DPDQ�\DQJ

EHUODNX�� 3ULRGLVDVL� �'HVD� 3DNUDPDQ� GDSDW

GLSLODK�PHQMDGL��=DPDQ�%DOL�.XQR�� =DPDQ

.HUDMDDQ�VDPSDL�GHQJDQ�PDVXNQ\D�SHQJDUXK

.HUDMDDQ�0DMDSDKLW�GL�%DOL��=DPDQ�.RORQLDO

%HODQGD�� GDQ� =DPDQ�.HPHUGHNDDQ� VDPSDL

VHNDUDQJ

3HUDQDQ� 'HVD� 3DNUDPDQ� WHODK

GLUDVDNDQ�ROHK�PDV\DUDNDW�+LQGX�GL�%DOL��\DQJ

WHODK� EDQ\DN� PHPEHULNDQ� SHOD\DQDQ�

SHPELQDDQ�GDQ�SHQJHPEDQJDQ�GDODP�ELGDQJ

$GDW��%XGD\D�GDQ�$JDPD��%HUGDVDUNDQ� GDWD

WHQWDQJ�SHUDQDQ�'HVD�3DNUDPDQ���EHUNHPEDQJ

VHVXDL� GHQJDQ� SHUNHPEDQJDQ� ]DPDQ��'HVD

3DNUDPDQ��SDGD�VDDW�WHUEHQWXNQ\D�PHUXSDNDQ

RUJDQLVDVL� WUDGLVLRQDO� \DQJ� EHUSHUDQ� VHEDJDL

SHOD\DQ� PDV\DUDNDW� WHUXWDPD� GLELGDQJ

NHDPDQDQ��VRVLDO�PDV\DUDNDW�VDMD��%HUGDVDUNDQ

WHRUL�RUJDQLVDVL�PHQJDWDNDQ�EDKZD�RUJDQLVDVL

LWX�WHUEHQWXN�NDUHQD�DGDQ\D�LNDWDQ�NHSHQWLQJDQ

XQWXN� PHQFDSDL� WXMXDQ�� 3DGD� PXODQ\D

RUJDQLVDVL� LQL� WXPEXK� GDODP� UDQJND

PHPSHUWDKDQNDQ� GLUL� GDUL� VHUDQJDQ� ODZDQ�

VLDSD�\DQJ�NXDW�GLD�\DQJ�PHQDQJ��.HPXGLDQ

PHQJJHOLQGLQJ� VHPDNLQ� NXDW�� PDND

WHUEHQWXNODK� 'HVD� 3DNUDPDQ� VHEDJDL

RUJDQLVDVL�\DQJ�WHUWXD�GL�%DOL�

,��3(0%$+$6$1

����3(5$1$1�'(6$�3$.5$0$1

� 3HUDQDQ�'HVD� 3DNUDPDQ� GDSDW

GLMHODVNDQ� EHUGDVDUNDQ�SULRGLVDVLQ\D� VHEDJDL

EHULNXW�

�� 3HUDQDQ�SDGD�]DPDQ�%DOL�.XQR��3DGD�PXOD

WHUEHQWXN� SHUDQDQQ\D� KDQ\D� VHEDJDL� DODW

SHPHUVDWX��PHQJKLPSXQ�NHNXDWDQ� XQWXN

PHQJKDGDSL� VHUDQJDQ�PXVXK�� VHEDJDL

PHGLD� XQWXN�PHPXSXN� JRWRQJ� UR\RQJ�

VXGDK� WXPEXK� UDVD� VHJLOLN� VHJXOXN

VHOXQJOXQJ� VDED\DQ� WDND�� OHELK

PHQJXWDPDNDQ�NHSHQWLQJDQ�VRVLDO��%HOXP

GLNHWDKXL�XQVXU�UHOLJLXVQ\D�

�� 3HUDQDQ� SDGD�PDVD�.HUDMDDQ�%DOL�.XQR�

3HUNHPEDQJQ� SHUDQDQ�'HVD� 3DNUDPDQ�

SDGD�PDVD� LQL� EHUNHPEDQJ�� GLVDPSLQJ

PDVLK� WHWDS� VHEDJDL�RUJDQLVDVL� SHPHUVDWX

PDV\DUDNDW� GDQ� JRWRQJ� UR\RQJ�� WHODK

QDPSDN� DGDQ\D�PHPEHULNDQ� SHOD\DQDQ

GLELGDQJ� VRVLDO� NHDJDPDDQ�� 7DWD

NHDJDPDDQ�GL�'HVD�3DNUDPDQ�GLDWXU�ROHK

5DMD�PHODOXL�%KDJDZDQWHQ\D�PDVLQJ� ±

PDVLQJ�� 3HUDQDQ�'HVD� 3DNUDPDQ� MXJD

VHEDJDL� EHQWHQJ� NHNXDWDQ� UDMD� EDLN� GDUL

XQVXU�VHNDOD�PDXSXQ�QLVNDOD��6DDW�LQL�PXODL

WXPEXK�GDQ�EHUNHPEDQJ�$GDW�GDQ�%XGD\D

\DQJ�GLMLZDL� ROHK�$JDPD�� ,PSOHPHQWDVL

NHDJDPDDQ�GLNHPDV�ROHK�$GDW�GDQ�%XGD\D�

��� =DPDQ�.HUDMDDQ�%DOL� -DZD� ��0DMDSDKLW� �

3HQDWDDQ�'HVD�3DNUDPDQ��GLDWXU�ROHK�0SX

.XWXUDP��GHQJDQ�PHQ\DWXNDQ�VHPXD�VHNWH

\DQJ�DGD�GL�%DOL��GDODP�EHQWXN�7UL�0XUWL�

0XODLODK�GLGLULNDQ�.DK\DQJDQ�7LJD�VHEDJDL

FLULQ\D� VHEXDK�'HVD� 3DNUDPDQ�� \DQJ

GLODQGDVL�GHQJDQ�ILORVRILV�7UL�+LWD�.DUDQD

��3DUK\DQJDQ��3DZRQJDQ�GDQ�3DOHPDKDQ

��� %HOLDX� EHUMDVD� GDODP�PHQDWD� 'HVD

3DNUDPDQ�GL�%DOL��PDND�GDUL�LWX�QDPD�EHVDU

0SX� .XWXUDQ� GLDPELO� PHQMDGL� QDPD

SHUJXUXDQ�WLQJJL�$JDPD�+LQGX�GL�ZLOD\DK

3DQML�6DNWL�.DEXSDWHQ�%XOHOHQJ��6HPRJD

GHQJDQ� PHQJDPELO� QDPD� EHVDU� 0SX

.XWXUDQ��ELVD�PHODQMXWNDQ�ZDULVGDQ�OHOXKXU
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%DOL�PHQDGL�VDWX�NHVDWXDQ�\DQJ�XWXK��WLGDN

WHUNRWDN�NRWDN�ROHK�6HNWH�VHNWH�ODJL�

��� =DPDQ� .RORQLDO� %HODQGD�%HQWXN

RUJDQLVDVL�WUDGLVLRQDO�%DOL�GLUXEDK�PHQMDGL

'HVD� $GDW�� 3HUDQDQQ\D� KDQ\D

PHODNVDQDNDQ� NHJLDWDQ� GLELGDQJ

NHDJDPDDQ�� DGDW� LVWLDGDW� VHEDJDL� FLUUL

EXGD\D�RUDQJ�%DOL�� 3HUDQDQ�XWDPD�'HVD

$GDW�� KDQ\D�GLELGDQJ�$GDW��%XGD\D� GDQ

$JDPD�+LQGX�GL� %DOL�� 3HUDQDQ� VHEDJDL

DSDUDWXU� SHPHULQWDKDQ�GLEHQWXNODK�'HVD

'LQDV��'XD�MHQLV�GHVD�GL�%DOL�PXQFXO�VHMDN

PDVD� SHPHULQWDKDQ� %HODQGD� EHUNXDVD

PHQJDWXU�SHPHULQWDKDQ��'HVD�3DNUDPDQ

PHQJXUXV�$GDW��%XGD\D�GDQ�$JDPD��'HVD

'LQDV�PHQJDWXLU�DGPLQLVWUD�3HPHULQWDKDQ�

WHWDSL�NHQ\DWDDQQ\D�VHNDUDQJ�NHGXD�GHVD

WHUVHEXW�PHQMDGL� VDWX� NHVDWXDQ� GDODP

PHQVHMDKWUDNDQ�PDV\DUDNDW�%DOL�

��� =DPDQ�SHPHULQWDKDQ�1.5,��0XODL�PDVD

NHPHUGHNDDQ�GXD�MHQLV�GHVD�WHWDS�GLKDUJDL

EHUGDVDNDQ� 88'� ������ RUJQLVDVL

WUDGLVLRQDO� GL� VHOXUXK� ,QGRQHVLD� WHWDS

GLOLQGXQJL��VHUWD�GLMDPLQ�NHEHUDGDDQQ\D�

3HUDQDQ� 'HVD� 3DNUDPDQ� PHQJDODPL

SDVDQJ�VXUXW��VHPSDW�GLPDUJLQDONDQ��WHWDSL

ODPD� NHODPDDQ� GLUDVDNDQ� SHUDQDQ� GHVD

3DNUDPDQ�PHQGDSDWNDQ� SHUDQDQ� \DQJ

SHQWLQJ� GDODP� NHLNXWVHUWDDQ� GDODP

SHPEDQJXQDQ�� 6XNVHVQ\D� SURJUDP

SHPEDQJXQDQ�DSDELOD�GLODNVDNDQ�PHODOXL

EDKDVD�$JDPD�

��� 6HWHODP� WHUEHQWXNQ\D�0DMHOLV� 'HVD

3DNUDPDQ�� �3HUDQDQ�'HVD� 3DNUDPDQ

VHWHODK� WHUEHQWXNQ\D� 0DMHOLV� 'HVD

3DNUDPDQ�VHPDNLQ�NXDW�NDUHQD�GLOLQGXQJL

ROHK�3HUDWXUDQ�'DHUDK��3URSLQVL �%DOL �1R�

�� 7DKXQ� ������ \DQJ�PHQJDWXU� WHQWDQJ

NHGXGXNDQ�I XQJVL � GDQ� SHUDQDQ�'HVD

3DNUDPDQ� VHEDJDL� NHVDWXDQ�PDV\DUDNDW

+XNXP�$GDW�GL�3URSLQVL��%DOL��.HPXGLD

GLXEDK�GHQJDQ�3HUGD�1R���7DKXQ������

GLXEDK�NHPEDOL�GHQJDQ�3HUGD�1R���7DKXQ

����

����78*$6�32.2.�'$1�)81*6,

� .HOHPEDJDDQ� 'HVD� 3DNUDPDQ

EHUVLIDW�SHUPDQHQ�GLODQGDVL�ROHK�IDOVDIDK��7UL

+LWD�.DUDQD��3HUGD�LQL�GLUHYLVL�GHQJDQ�SHUGD

QR�� �� WDKXQ� ������ SHUXEDKDQ� WHUDNKLU

EHUGDVDUNDQ� 3HUGD� QR�� �� WDKXQ� ������ \DQJ

PHQHJDVNDQ� WXJDV� SRNRN� GDQ� ZHZHQDQJ

0DMHOLV�'HVD�3DNUDPDQ�VHEDJDL�EHULNXW��7XJDV

SRNRN�� ����PHPELQD��PHQJHPEDQJNDQ� GDQ

PHQJD\RPL�NHDULIDQ�ORNDO�GDODP�EHQWXN�DGDW

LVWLDGDW� � �EXGD\D�%DOL�����PHPEHULNDQ�VDUDQ�

XVXO��NHSDGD�EHUEDJDL�SLKDN�WHQWDQJ�PDVDODK

NHDULIDQ� ORFDO��:HZHQDQJ�0DMHOLV� 'HVD

3DNUDPDQ� VHEDJDL� EHULNXW�

���PHPXV\DZDUDKNDQ�PDVDODK��NHDULIDQ�ORNDO

\DQJ�PXQFXO� � GL� GHVD� SDNUDPDQ� ���VHEDJDL

PHGLDWRU�GDODP��NDVXV�NDVXV�DGDW�GDQ���DJDPD�

���PHQ\HOHVDLNDQ�NRQIOLN�� VHQJNHWD�DGDW�GDQ

DJDPD�GLOLQJNXQJDQQ\D�PDVLQJ�PDVLQJ����WXUXW

VHUWD�GDODP�SHODNVDQDDQ�SHPEDQJXQDQ�\DQJ

WHUNDLW�GHQJDQ�WUL�KLWD�NDUDQD�GL�ZLOD\DKQ\D���

PHOHVWDULNDQ� � DGDW� GDQ� EXGD\D� EDOL� \DQJ

EHUVXPEHU�GDUL�DJDPD�KLQGX���������3HUGD�1R��

WDKXQ�������

7XJDV� SRNRN� GDQ� ZHZHQDQJ�'HVD

3DNUDPDQ� � DGDODK� VHEDJDL� EHQWHQJ

PHPSHUWDKDQNDQ�$GDW� EXGD\D� GDQ�$JDPD

+LQGX� GL� %DOL��$GDW� DGDODK� WUDGLVL� \DQJ

GLODNVDQDNDQ�VHFDUD� WXUXP�WHPXUXQ��GL\DNLQL

VHEDJDL�VXDWX�NHZDMLEDQ�XQWXN�GLODNVDQDNDQ�

%XGD\D� PHUXSDNDQ� KDVLO� EXGL� GDQ� GD\D

PDQXVLD�� \DQJ� GLUDVDNDQ� VHEDJDL� FLWUD� \DQJ

PHPLOLNLQ\D��$JDPD��DGDODK�VXDWX�NH\DNLQDQ

\DQJ�GLODNVDQDNDQ� GHQJDQ�SHQXK�NHVDGDUDQ�

�5DQJNXPDQ� ZDZDQFDUD� GHQJDQ� SDUD

3HPDQJNX�� 3WUDMXUX�� GDQ� WRNRK� DJDPD�

1RSHPEHU�������

���� 3(5$1$1�'(6$� 3$.5$0$1� � ',
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3HUDQDQ�'HVD� 3DNUDPDQ� GL� ELGDQJ

SDUK\DQJDQ��0SX�.XWXUDQ� VHEDJDL� SHORSRU

XQWXN�PHQDWD�NHDJDPDDQ�+LQGX�GL�%DOL��PXODL

GDUL�PHQJJDJDV� EHUGLULQ\D� NDK\DQJDQ� WLJD

VDPSDL� GHQJDQ� SHODNVDQDDQ� XSDFDUD
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NHDJDPDDQQ\D� VHSHUWL� XSDFDUD� QJHZDQJXQ

�XSDFDUD�QJHUXZDN��PHODVSDV��QJHQWHJ�OLQJJLK

���8SDFDU� VHODQMXWQ\D� DGDODK�PHODNVDQDNDQ

3LRGDODQ���.DOHU���O��������

3HUDQDQ�GDODP�ELGDQJ�8SDFDUD�3DQFD

\DGQ\D�� VHEDJDL� SHUDQFDQJ� PXODL� GDUL

SHUHQFDQDDQ�XSDFDUD�\DQJ�DNDQ�GLODNVDQDNDQ�

NHPXGLDQ�PHPEHQWXN� SDQLWLD� SHODNVDQD�

PHQHQWXNDQ� SDGHZDVDQ� ��PHPLOLK� KUL� EDLN

XQWXN� XSDFDUD� ��� 6HPXD� MHQLV� XSDFDUD

GLWHQWXNDQ�ROHK�'HVD�3DNUDPDQ��8SDFDUD�\DQJ

ZDMLE� GLODNVDQDNDQ� ROHK� 'HVD� 3DNUDPDQ

DGDODK�����8SDFDUD�SLRGDODQ�GL�PDVLQJ�±�PDVLQJ

SXUD�����8SDFDUD�SHFDUXDQ�PHQMHODQJ�KDUL�UD\D

1\HSL�����XSDFDUD�QDQJOXN�PHUDQD�����XSDFDUD

SHFDUXDQ� SDQJDODQJ� VDVLK�� �� XSDFDUD

NDULSXED\D���EHQFDQD�DODP����6XDUMD\D������

���

3HUDQDQ�'HVD� 3DNUDPDQ� XWDPDQQ\D

PHOD\DQL� NHSHQWLQJDQ� NHUDPD� GDODP

SHODNVDQDDQ�3DFD�<DGQ\D�� WHUXWDPD�PDVDODK

VXND�GDQ�GXND��8SDFDUD�\DQJ�EHUNDLWDQ�GHQJDQ

VXND� � DGDODK�� D��XSDFDUD� SHUNDZLQDQ�E�� WLJD

EXODQ�DWDX�XSDFDUD�RWRQDQ�F��XSDFDUD�PHODVSDV

VDQJJDK�DWDX�UXPDK��3HUDQDQ�'HVD�3DNUDPDQ

GLELGDQJ� VXND�� GLODNVDQDNDQ� NDODX� DGD

SHUPLQWDDQ�GDUL�NHUDPD��MLND�NHUDPD�PDPSX

PHODNVDQDNDQ� VHQGLUL� SURVHVL� XSDFDUDQ\D�

PDND�'HVD�3DNUDPDQ�PHPEHULNDQ� SHWXQMXN

GDQ� ELPELQJDQ�PHQJHQDL� SDGHZDVDQ� GDQ

PHQHQWXNDQ� SHPDQJNX� \DQJ� PHPLPSLQ

XSDFDUD�

8SDFDUD�\DQJ� EHUNDLWDQ� GHQJDQ�GXND

DGDODK�� D�� XSDFDUD�SHQJDEHQDQ�� E�� XSFDUD

NDULSX� ED\D� \DNQL� XSDFDUD� VHWHODK� EHQFDQD

DODP�� ELDVDQ\D� VHODOX� GLODNVDQDNDQ� XSDFDUD

XQWXN�PHQHWUDOLVLU�NHNXDWDQ�DODP��DJDU� WLGDN

WHUJDQJJX� NHDPDQDQ� GDQ� NHQ\DPDQDQ

PDV\DUDNDW����5DQJNXPDQ�ZDZDQFDUD�GHQJDQ

SDUD� 3HPDQJNX�� 3UDMXUX�� GDQ� WRNRK� DJDPD�

1RSHPEHU� ����� 'HVD� EHUSHUDQ� VHEDJDL

SHPELQD�� SHQJD\RP�GDQ� SHQXQWXQ� GLELGDQJ

NHDJDPDDQ��D��6HEDJDL�SHODNVDQD�3DVUDPDQ��

SHQGLGLNQ�DJDPD��SHPELQDDQ�PHQWDO�VSLULWXDO

��E��VHEDJDL�SHPELQD�SHVDQWLDQ�\DLWX�NHJLDWDQ

SHPEDFDDQ�VDVWUD�VDVWUD�+LQGX�GDODP�EHQWXN

NLGXQJ�PDXSXQ�NHNDZLQ��GHQJDQ�PRWR�PHODMDK

VDPELO�PHJHQGLQJ��PHJHQGLQJ�VDPELO�PHODMDK

DUWLQ\D� EHODMDU� VDPELO� EHUQ\DQ\L�� EHUQ\DQ\L

VDPYLO� EHODMDU��3HVDQWLDQ� WHUVHEXW� EHUPDNQD

SHQGDODPDQ� LVL�:HGD�� PHODOXL� NHJLDWDQ

NHORPSRN�SHVDQWLDQ

���� 3(5$1$1�'(6$� 3$.5$0$1� ',
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3HUDQDQ�'HVD� 3DNUDPDQ� GL� ELGDQJ

3DZRQJDQ�DGDODK�PHQMDJD�NHKDUPRQLVDQ�KLGXS

EHUNHOXDUJD�� EHUPDV\DUDNDW�� EHUEDQJVD� GDQ

EHUQHJDUD��7XJDV�SRNRN�LQL�VDQJDW�EHUDW��NDUHQD

PHQJDWXU� NHSHQWLQJDQ� RUDQJ� \DQJ� EHUEHGD�

EHGD��3HQJDWXUDQ�NHKDUPRQLVDQ�KLGXS�WHUVHEXW�

GLEXWXKNDQ�ODQGDVDQ�VHEDJDL�SHJDQJDQ��PDND

GLEXDWODK� SHGRPDQ� GDVDU� \DQJ� PHQMDGL

SDQGXDQ� SHPELQDDQ� NHKDUPRQLVDQ� KLGXS

EHUXSD�DZLJ�DZLJ��GDQ�SHUDUHP�

$ZLJ� ±� DZLJ�PHQJDQGXQJ�� WLJD� XVXU

\DNQL��D��SHWXQMXN�\DQJ�KDUXV�GLODNVDQDNDQ�ROHK

PDV\DUDNDW�� VHEDJDL� UDPEX� UDPEX

EHUDJDPD�EHUPDV\DUDNDW�E��EHULVL� ODUDQJDQ�±

ODUDQJDQ�DJDU�WLGDN�GLODNXNDQ��VHSHUWL�ODUTQJDQ

SHUMLQDKDQ��PHPLWUD� QJDODQJ� �� FLQWD� NXPSXO

NHER����SHQFXULDQ��SHQJXUDVNDQ�GL�SXUD�GDQ�GL

SHUXPDKDQ�� ODUDQJDQ� \DQJ� VHMHQLV� GDODP

SHWXQMXN�$JDPD�+LQGX�F��DZLJ�±�DZLJ�EHULVL

VDQJVL�VDQJVL�$GDW��MLND�PHODQJJDU�NHWHQWXDQ

GDODP�DZLJ�DZLJ��,VL�VDQJVL�\DQJ�SDOLQJ�EHUDW

DGDODK� VDQJVL� VRVLDO�� EHUXSD� NHVHSHNDQJ� �

GLEHUKHQWLNDQ� ��PHQMDGL�ZDUJD�PDV\DUDNDW�

VHUWD�WLGDN�PHQGDSDWNDQ�SHOD\DQDQ�ROHK�'HVD

3DNUDPDQ�

���� 3(5$1$1�'(6$� 3$.5$0$1� �',

%,'$1*�3$/(0$+$1�

3HUDQDQ�'HVD� 3DNUDPDQ� � GL� ELGDQJ

SDOHPDKDQ��PHQMDJD� NHOHVWDULDQ� OLQJNXQJDQ

KLGXS��VHUWD�PHQJDWXU�7UL�0DQGDOD�\DQJ�DGD

GLOLQJNXQJDQ�'HVD� 3DNUDPDQ��.RQVHS�7UL

0DQGDOD� GDODP� OLQJNXQJDQ� GHVD� SDNUDPDQ

VHODOX�PHPSHUKDWLNDQ�XWDPD�PDQGDOD��PDG\D

PDQGDOD�GDQ�NDQLVWD�PDQGDOD�

038�.8785$1�%(5-$6$�'$/$0�����,�:D\DQ�6XDUMD\D��������
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3HQDWDDQ� XWDPD�PDQGDOD� ZXMXGQ\D

EHUXSD�SHQDWDDQ�OLQJNXQJDQ�7HPSDW�VXFL���3XUD

��� GHQJDQ�PHPHOLKDUD� OLQJNXQJDQQ\D� DJDU

VHVXDL� GHQJDQ� NHWHQWXDQ�$JDPD�� VHSHUWL

PHQDQDP�WXPEXK���WXPEXKDQ�\DQJ�GLEXWXKNDQ

XQWXN�8SDFDUD�� 6HGDQJNDQ�SHQDWDDQ�PDG\D

PDQGDOD�� DGDODK� SHQJDWXUDQ� OLQJNXQJDQ

SHPXNLPDQ�� WHUPDVXN� WDQDPDQ� SHQJKLMDXDQ�

3HQDWDDQ� GLELGDQJ� NDQLVWD�PDQGDOD�� DGDODK

SHQDWDDQ� OLQJNXQJDQ�GL� VHWUD��PHQMDJD� WHWDS

WHUMDJD� NHVDNUDODQQ\D�� .HVDNUDODQ� GLMDJD

PHODOXL� DZLJ� DZLJ�� VDODK� VDWX� GLDQWDUDQ\D

DGDODK� ODUDQJDQ� WHUQDN� VDSL� GDQ�EDEL�PDVXN

NHUDQDK�VXFL��EDLN�GL�SXUD�PDXSXQ�GL�NXEXUDQ�

,,,��3(18783

6HFDUD� JDULV� EHVDUQ\D� SHUDQDQ�'HVD

3DNUDPDQ�GDSDW�GLNHORPSRNQ\D�VHEDJDL�WXODQJ

SXQJJXQJ�SHUVDWXDQ�GDQ�NHVDWXDQ�PDV\DUDNDW

GHVD�WHUXWDPD�GLELGDQJ�

��� 3HUDQDQ�'HVD�3DNUDPDQ�GLELGDQJ�VRVLDO

NHPDV\DUDNDWDQ�

3HUDQDQ� 'HVD� 3DNUDPDQ� � VHEDJDL

LPSOHPHQWDVL�7UL� +LWD� .DUDQD� GDODP

ELGDQJ�VRVLDO�EXGD\D��OHELK�EDQ\DN�WHQWDQJ

SDZRQJDQ� GDQ� SDOHPDKDQ�� 3HUDQDQ

GLELGDQJ� 3DZRQJDQ� DGDODK� PHQDWD

KXEXQJDQ�\DQJ�KDUPRQLV� DQWDUD�NHUDPD

GHVD�� 6HGDQJNDQ� SDOHPDKDQ� PHQDWD

OLQJNXQJDQ�KLGXS�\DQJ�KDUPRQLV�GHQJDQ

NHKLGXSDQ�PDV\DUDNDW�� 3HUDQDQ�'HVD

3DNUDPDQ� GLOLKDW� GDUL� VRVLDO

NHPDV\DUDNDWDQ� QDPSDN� VHNDOL� GDUL

ILORVRILV�NHKLGXSDQ�\DQJ�WHUWXDQJ�GDODP

SHUDUHP�PDXSXQ� DZLJ� ±� DZLJ� VHSHUWL

³6HJLOLN�VHJXOXN�VHOXQJOXQJ�VHED\DQ�WDND

VDURD�QD\D� ³�$UWLQ\D� IXQJVL� VRVLDO�\DQJ

GLODNVDQDNDQ�ROHK�'HVD�3DNUDPDQ��VXND

PDXSXQ� GXND� GLSLNXO� EHUVDPD�� 3HUQDQ

'HVD� 3DNUDPDQ� QDPSDN� MXJD� GDODP

PHQMDJD�PHPELQD�GDQ�PHQJHPEDQJNDQ

$GDW�GDQ�%XGD\D�\DQJ�GLMLZDL�ROHK�$JDPD

+LQGX

��� 3HUDQDQ�'HVD�3DNUDPDQ�GL�ELGDQJ�VRVLDO

NHDJDPDDQ�

3HUDQDQ�'HVD�3DNUDPDQ�GL�ELGDQJ�VRVLDO

NHDJDPDDQ��VHEDJDL�LPSOHPHQWDVL�7UL�+LWD

.DUDQD� GLELGDQJ�3DUK\DQJDQ�� \DNQL

PHQMDJD�KXEXQJDQ�\DQJ�KDUPRQLV�DQWDUD

NHUDPD� GHQJDQ�7XKDQ�PHODOXL� � GDODP

ELGDQJ�XSDNDUD�GDQ�XSDFDUD�NLHDJDPDDQ

VHODOX� GLSLNXO� EHUVDPD�� 6HSHUWL

SHODNVDQDDQ� KDUL� 3LRGDODQ� GL� 3XUD�

SHODNVDQDDQ�KDUL� UD\D�NHDJDPDDQ� VHODOX

VHODOX� GLWRSDQJ� RHOK� GHVD� 3DNUDPDQ�

3HUDQDQ�'HVD�3DNUDPDQ�GL�ELGDQJ�VRVLDO

NHDJDPDDQ�� VHEDJDL� SHOD\DQ�PDV\DUDNDW

GDODP� WHUVHOHQJJDUDQ\D�3DQFD� <DGQ\D

\DQJ� GLODNXNDQ� ROHK� .HUDPD�� VGODOX

GLWRSDQJ�ROHK�'HVD�3DNUDPDQ�� WHUXWDQD

8SDFDUD� 3HUNDZLQDQ�� 3HQJDEHQDQ�

8SDFDUD�PHWTWDK�GDQ�ODLQ�VHEDJDLQ\D�

'HPLNLDQODK� PDNDOD� \DJ� GDSDW

GLVDMLNDQ��GLVDGDUL�PDNDOD�LQL�PDVLK�MDXK�GDUL

VHPSXUQD�� GLKDUDSNDQ�PDVXNDQ� GDUL� SDUD

SHPEDFD�\DQJ�EXGLPDQ�

'$)7$5�3867$.$

$KPDG�*R]DOL��������0DQDMHPHQ�3HUXEDKDQ

GDQ�0DQDMHPHQ�.RQQIOLN��'HSDUWHPHQ

$JDPD�5,��%DGDQ�/LWEDQJ� GDQ�'LNODW

3XVGLNODW7HQDJD�$GPLQLVWUDVL�-DNDUWD�

$UGDQD�� � ,� *XVWL� *HGH�� ����������� 3XUD

.DK\DQJDQ� 7LJD�� 'HQSDVDU�� � 3UR\HN

3HPHULQWDK�'DHUDK�%DOL

'KHUDQD��7MRNRUGH�5DND���������3RNRN�±�3RNRN

2UJDQLVDVL�.HPDV\DUDNDWDQ�$GDW� %DOL�

'HQSDVDU�� )DNXOWDV� +XNXP� GDQ

3HQJHWDKXDQ�0DV\DUDNDW� 8QLYHUVLWDV

8GD\DQD�

'LQDV� .HEXGD\DDQ� 3URYLQVL� %DOL�� �����

3HGRPDQ� GDQ� FULWHULD� � SHQLODLDQ�'HVD

3DNUDPDQ�'HVD�$GDW���'HQSDVDU�

.DOHU�,�*XVWL�.HWXW��������%XWLU�EXWLU�WHUFHFHU

WHQWDQJ� $GDW� %DOL�� 3HUFHWDNDQ� %DOL

'HQSDVDU


